10 SYMEDOL AFTEH ?”.EIHHUL 49 ,0,254,
IS~,25 gy V27l Z I;?:Eitje-fﬁﬁrliu
1p#i2)=CHRE(2 =11 p¥(3)=CHRE (248) :
J:HH abt{25) yMOGDE 13 INE i g0 INE l-:l 0sl
Hlf .i....I..'I"Lh” SlEJ:FEE .II'-.: T'D F'w.lrl:l-“]
=" "+ SFACER (S +" 1"+ NEXT:a$(11=5TR
INGS (40, "1")sabi25) =ab () DATA 20,2
Syat 10
0 FOR 1=5 TG 20 STEF S5:a$ii)=5TRIN
55030,"1") :READ x3MIDE(aBil) i, 2)="
hEIT w=2 y =24:MIDS(asiy) 2, ,1)=p
§i11:c=39:1:=2:5YMEOL 51,0,24, a@,1L
y :Dttl{:' L"IiF‘EM I-FUH i=] T'D s FRIN
T a$ir);:NEXT:FOR p=1 TO 100
- PEN J:n-]HTTHHEi @) +1:b=INT{(RND#
220 %1 1F MIDS{akib) ,a,l)7:" " THEN
oo ELSE MIDEvadib), ,1}=“’”ILUEHTE
a,bsPRINT "3": EuUHD ] ,S%{atbh} 5,7:N
EXT:3YMROL 77,060,126,21%,255,219,19
5,*t5 1 Fp=i
40 CALL MED19:LOCATE »,y:PRINT CHR#$
{248V : LOCATE c  i:PRINT "M ni=nryls=
y:IF INKEY{8)=0 THEMN n=u-1:p=2 ELGE
IF INKEY({l)=¢ THEN n=h+£:p=i ELSE
IF INEEY{0)=0 THEN y=y=l:p=3 EL3E I
F INKEY{2i=0 THEH T y+l:p=a ELSE &0
g0 IF MID$(abiy) ,2,1)="1" THEN n=xl
+y=yl ELSE S0OUND I,1@D,5,I,,,I:Lﬂ€ﬁ
TE »1,yl:PRINT " "sLOCATE #,y:PRINT
pkipl:tChALL LEBDI19:1F HIDanttfi,x.I
y="3" THEN MILE{abiy)  n,l)=" "is(=8
c+10:S0UND I.IGG,E,?:IF =:-10ﬂ0 THE
N 100
60 re=INT(RND®#12)3IF re:5 THEN 40 E
LSE a=c:b=l:ec=ABS(x-c)iel=AES(y-1)
:IF ec:el AND x»c THEN c=c+l ELSE 1
F ecrel AND »n<{c THEN c=c-{ ELSE IF
€l :ec AND y>1 THEN 1=1+1 ELSE IF el
ec AND y<l THEN l=1-1
70 pe=VAL(MID$(as$(b),a,1)):PEN pe:l
OCATE a,b:FRINT MID${a%(b},a,l):FPEN
2: LOCATE c,1:PRINT "M":1F c=x AND
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l=y THEN %0 ELSE 40

80 FOR i=1 TO S7:READ =:S0UND 1y5,1 (137141
0,7:50UND 1,0,5,0:NEXT: RETURN: DATA
379,478,358,379,478,451,379,478, 358
1379,478,451,379,451 478,579,451 47

8,478 ,638,478,716,876,506,568,478 6
38,478,716,478,506,568,119,127,
127,119,127,119,127 315,478, 378
478,472

90 SYMBOL AFTER 32:FOR i=0 T0 1000 [19418)
STEP 100:50UND 1,i,10,7:NEXTICLS:PE

N i:LOCATE 13,6:FRINT"C'EST PERDU |

'TP:FEN Z3LOCATE 13,10:FRINT VOUS &

VEI FAIT:":PEN 3:LOCATE 13,14:PRINT

cci "POINTS, ": LOCATE 17,25:PRINT "I
ENTERI":WHILE INEKEYSC . CHRE(I2) s WEND

s RUN

100 SYMBOL AFTER 32:CLS:FPEN 1:LOCAT [1353%]
E I3,6:FRINT “C'EST GABNE '!'!'":FEN

2:LOCATE 1Z,1G:PRINT "VDUS AVEZ FAl

T:"+PEN J:LOCATE 13,i4:PRINT 523 "FO
INTS, ": LOCATE 17,25:PRINT "[ENTER]"

tGOSUE &0t WHILE INKEYS< 'CHREG(1Z):WE
ND:RUN:DATA 473, 78,478,478,478,0,4¢

1O 0,0,0,0
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